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T.C. KIMLIK NUMARASI
ADI
SOYADI

SALON NO. : SIRA NO.:

Soru kitapgik numarasinin cevap kagidina kodlanmamasinin veya yanlisg
kodlanmasinin sorumlulugu adaya aittir.

SORU KITAPGIK TEMEL SORU Bu numarayi cevap

) . < kagidinizdaki ilgili alana
NUMARASI : KlTAPQIGl kodlamay! unutmayiniz.

DIKKAT! SINAV BASLAMADAN ONCE ASAGIDAKIi UYARILARI MUTLAKA OKUYUNUZ.

1. T.C. Kimlik Numaranizi, Adinizi, Soyadinizi, Salon Numaranizi ve Sira Numaranizi, Soru Ki-
tapc¢igi Uzerindeki ilgili alanlara yaziniz.

2. Soru Kitapgik Numaraniz yukarida verilmistir. Bu numarayi cevap kagidinizdaki ilgili alana kod-
layiniz ve asagidaki ilgili alani imzalayiniz. Salon gérevlisinin de hem soru kitapgiginizdaki hem
de cevap kagidinizdaki ilgili alani imzalamasini saglayiniz. Bu kodlamayi cevap kagidiniza
yapmadiginiz veya yanls yaptiginiz takdirde, sinavinizin degerlendirilmesi mumkun degildir.

3. Bu sayfanin arkasinda yer alan agiklamayi dikkatle okuyunuz.

Adayin imzasi:
Soru kitapg¢ik numarasini dogru kodladim.

Salon gorevlisinin imzasi:
Adayin soru kitap¢ik numarasini cevap kagidina
dogru kodladigini onayliyorum.



ACIKLAMA

Bu kitapgikta Kamu Personel Segcme Sinavi Yabanci
Dil (ingilizce) Testi bulunmaktadir.

Bu test igin verilen toplam cevaplama stresi
60 dakikadir (1 saat).

Bu testte 60 soru vardir.

Bu kitapgiktaki testte yer alan her sorunun sadece bir
dogru cevabi vardir. Bir soru igin birden ¢ok cevap yeri
isaretlenmisse o soru yanlig cevaplanmig sayilacaktir.

isaretlediginiz bir cevabi degistirmek istediginizde, sil-
me islemini ¢ok iyi yapmaniz gerektigini unutmayiniz.

Bu test puanlanirken dogru cevaplarinizin sayisindan
yanlis cevaplarinizin sayisinin dértte biri disulecek ve
kalan sayi testle ilgili ham puaniniz olacaktir. Bu ne-
denle, hakkinda higbir fikriniz olmayan sorulari bos bi-
rakiniz. Ancak, soruda verilen segeneklerden birkagini
eleyebiliyorsaniz kalanlar arasinda dogru cevabi kestir-
meye ¢alismaniz yarariniza olabilir.

Sinavda uyulacak diger kurallar bu kitapgigin arka ka-
paginda belirtiimistir.
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Bu testte 60 soru vardir.

1. - 6. sorularda, ciimlede bos birakilan yerlere
uygun diigsen sézciik ya da ifadeyi bulunuz.

Despite the ---- of laws in society, its manifestation
in the form of general codes first appears only
around 3000 BC.

A) belief B) separation
C) engagement D)agreement

E) importance

They certainly have a very ---- lifestyle: flying in
private jets and staying in 5-star hotels around the
world.

A) glamorous B) challenging

C) defiant D)enthusiastic

E) sustainable

They reached their conclusion based ---- on
evidence found at the site of the murder.

A) occasionally B) constantly

C) primarily D)gradually

E) intentionally

iNGILizCE

In a recent press conference, the company ---- their
plans to launch a new hybrid car in autumn.

A) originated B)revealed
C) qualified D)advised
E) contributed

About 14,500 years ago, hunter-gatherers in the
eastern Mediterranean ---- their migratory lifestyle
and settled in villages.

A) turned into B) broke off

C) put off D)gave up

E) looked into

In 1944, there was general acceptance and support
for the ---- of the first International Monetary Fund
and the World Bank to help stabilize the world
economy.

A) setting up B) making up

C) taking up D)holding up

E) bringing up

Diger sayfaya geginiz.
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7. -13. sorularda, ciimlede bos birakilan yerlere
uygun diigsen s6zciik ya da ifadeyi bulunuz.

10. He accepts some responsibility ---- being part of an

Physical training ---- muscles in several ways and

---- the functioning of the heart and the respiratory
system.

A) is altering / has improved

B) alters / improves

C) had altered / would improve
D) altered / must have improved

E) has been altering / will improve

Since the 1990s we ---- more research on child
development that ---- the limitations of earlier work
in the field of developmental psychology.

A) have been seeing / would recognize

B) had seen / recognized

C) saw / could recognize

D) see / will recognize

E) have seen / recognizes

Deflation is a situation where the prices ---- goods

in an economy are, ---- average, falling rather than
rising.

A) at / from B)for /in

C)in / within D)of/ on

E) from / of

industry that designed devices he now believes are
hazardous ---- people’s health.

A) from / on B)of/in

C)on /by D)in / about

E) for / to

11. Buying books would be a good thing ---- one could
also buy the time to read them in.

A) so B)since

C)if D)as

E) but

12. Freud’s favourite way of understanding his patients
was dream interpretation, ---- he encouraged people
to talk without restraint about their dreams.

A) but B)while

C) although D)so

E) before

13. The world is changing ---- rapidly now ---- there is
no guarantee you will have a job for life, nor that the
company you join will continue to exist.

A) so / that B)as/ as

C)such/as D)more / like

E) much / than

Diger sayfaya geginiz.
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14.

15.

14. - 18. sorularda, asagidaki pargada numaralan-
mis yerlere uygun diisen sézciik ya da ifadeyi
bulunuz.

Barcelona, the self-confident and progressive capital of
Catalunya in Spain, vibrates with life. A thriving port and
prosperous commercial centre of 3 million people, the
city offers numerous possibilities, and (14)----in a
lengthy visit you will likely only scrape the surface. It
boasts some superb museums (15)---- outstanding
modernista architecture. This is most (16)---- expressed
in Antoni Gaudi’s extraordinary church of the Sagrada
Familia. From early morning to long (17)---- midnight, the
world-famous boulevard that is the Ramblas, is choked
with people shopping, chatting in cafés or watching the
street performers. (18)---- sunny afternoons, the city’s
beaches attract thousands of sunbathers, cyclists and
diners.

A) yet B)since
C) rather D)even

E) such

A) in case of
B) as well as
C) as long as
D) as good as

E) on behalf of

16.

17.

18.

A) perfectly

B) permanently
C) freshly

D) crucially

E) selectively

A) just

C) after

A) Under

C)By

B) before
D)ever
E) never
B) At
D)To
E) On

Diger sayfaya geginiz.
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19. - 24. sorularda, verilen ciimleyi uygun sekilde
tamamlayan ifadeyi bulunuz.

19. Supposing the doctor were to decide later this year
that stronger medicine is needed, ----?

A) what iliness does the patient have
B) who would make such a decision
C) could she afford to buy it

D) when would the patient decide

E) will the patient be making an appointment

20. By the time he boarded the plane, ----.

A) he had probably spent a lot more time on in-flight
games

B) the plane was flying at an altitude of 10 thousand
feet

C) he had already got to know eight important business
people

D) the discount business class ticket was still very
expensive

E) changing planes in a busy airport was a headache
for him

21. ----that absorbs energy from the Sun’s rays and

uses it to make food.

A) Roots of the plant are nourished with water

B) Plants are grown in large containers

C) Some chemicals control plant growth

D) Plants are unique in their ability to produce food

E) A leaf is often a flat structure

22. It is doubtful that the proposal will be accepted in

23.

the parliament ----.

A) unless there are more important matters to consider

B) since it would be considered a tax increase by many

C) after the parliament resumes the new year’s
budget-making

D) while federal programs must be paid for by federal
funding

E) whereas the proposal itself is never discussed by
the committee

----, it generally refers to elite kinds of artistic works

such as operas, poetry, classical music and serious
novels.

A) When the term “culture” is used in connection with
the arts

B) As culture involves the transmission of specific
ideas

C) Although we may not understand every culture we
encounter

D) Since language is the most essential element of the

culture

E) As long as culture deals with the written forms of

literature

Diger sayfaya geginiz.
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24. ----, modern grand pianos have metal frames with
heavier strings and can be played much more
loudly.

A) Since the only instrument symbolizing the Romantic
period is the piano

B) Whereas some pianos have a third central pedal
like that of a tambourine

C) Though many orchestral works are arranged for the
piano

D) While early pianos are largely made of wood and
have a delicate sound

E) As the glockenspiel piano requires years of training
to master

Diger sayfaya geginiz.
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25.

25. - 28. sorulan asagidaki parcaya gére
cevaplayiniz.

Across the technologically developed world, scientists
are building progressively more human-like machines.
“Social robots” are now entering human culture, most
frequently as entertainers for the very young and as
caretakers for the very old. In Japan, consumers buy
“therapeutic robots” like the humanoid Wakamaru,
which is designed to provide companionship for the
elderly and disabled, and is capable of basic social
interactions with its owners. In the US, recent holiday
seasons have seen parents fighting to buy robotic toys
for their children to “nurture” and play with. It is this
drive to build robots that appear to understand us and
engage with us — and perhaps one day think like us —
that is providing scientists with some unsettling and
unique insights. And it is driving the emerging field of
roboethics, which asks questions about how these
machines affect us and how best to integrate them into
our culture.

It is pointed out in the passage that “social robots”

A) are providing effective childcare for parents who
work

B) have caused social disturbances in the countries
where they are used

C) are definitely unsuitable for both children and the
elderly

D) are a concept that might become a reality in the
near future

E) are already providing a useful service in some
countries

26. The passage tries to ----.

A) provide a guide for dealing with the social problems
caused by robots

B) warn the reader of the dangers involved in creating
human-like machines

C) raise the readers’ awareness of our evolving
relationship with social machines

D) persuade readers to buy more electronic toys and
games

E) encourage the reader to do more research on how
robots could help society

27. The writer feels that present day robots ----.

28.

A) provide researchers with perspectives into potential
social issues

B) understand people’s feelings as well as
technological needs

C) can actually think like real children or very old
people

D) can replace people in many important areas at work

E) are no more than mere toys that are designed by
enthusiastic scientists

It can be understood from the passage that ----.

A) it is the disabled that can benefit the most from
robots

B) people have a need to build machines that they can
interact with

C) the US is leading the development of robotics
technology

D) the field of roboethics led to the creation of social
robots

E) robots’ full integration into human society will never
be possible

Diger sayfaya geginiz.
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29.

29. - 32. sorular1 agsagidaki pargaya gore
cevaplayiniz. §ad pargaya g 30. According to the passage, one solution offered to

stop the loss of population and industrial strength
is to -—--.

In post-tsunami Japan, the prime minister must decide
which towns and villages in Tohoku will be restored and
which won’t be. Much of rural Japan has been losing its
population and industrial strength for years.
Decentralizing power, which would require a revolution
in the central government, would help the process.
Japan has long been a top-down economy: government
bureaucrats make the decisions and allocate the tax

A) restore the powers of the central government
B) let the prime minister deal with the issue

C) regulate the assets of the central government

revenues; local leaders react accordingly. Those in D) decide where new industry should be located
Tokyo working on revival plans are caught up in
paperwork and are too far away from the damaged E) provide the local governments with more power

areas to grasp the complexities of life there. Japan’s

de-populated towns need to join forces and share

budgets — a move central government is too busy and

distracted to make. The biggest mistake would be for

Japan to try to recreate what existed before the March

10, 2011 tsunami. Despite what has been a lost year for ~~ 31. As it is stated in the passage, Japan’s top-down
Japan, the nation still has an opportunity for the kind of economy ----,

restructuring that does not come along often. It would

be a shame if Japan wasted it. .
A) allows the bureaucrats to observe the seriousness

of the situation in remote regions

B) does not enable effective communication between
the government and the local administrators

C) lets those in Tokyo see the complexities of life in
urban areas

D) encourages the de-populated towns to join forces
and share the limited budget

It can be inferred from the passage that ----. E) makes it possible for the local leaders to make their

own decisions in times of disaster

A) Japan is well-equipped to overcome the difficulties
of any disaster, natural or man-made

32. According to the writer of the passage, it would be

B) the prime minister largely appears to understand the completely wrong for Japan to ----.

complexities of life in tsunami-ravaged areas

A) try and make up for the lost year
C) Japan’s central, as well as local government ) try P 4

officials, have been working together to address the

B) focus on the complexities of the situation
tsunami-related problems

. C) rebuild what existed before the tsunami
D) the central government has failed to act

appropriately to solve the problems caused by the D) seize the opportunity to rebuild the nation
tsunami

w ) E) spend its money on restructuring
E) politicians have been spending all tax money

collected to help tsunami affected-regions

7 Diger sayfaya geginiz.
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33.

33. - 36. sorulan asagidaki parcaya gére
cevaplayiniz.

Investment in human capital is just like investment in
any other thing. If you invest in a building, you expect to
receive a rate of return on your investment. You expect
to receive some reward for not consuming all your
income today. The same is true for investment in
human capital. If you invest in yourself by going to
college, rather than going to work after school and
earning more money, you presumably will be rewarded
in the future by a higher income and/or a more
interesting job. On average, the rate of return on
investment in human capital is similar to the rate of
return to investment in other areas. The main cost of
education is the income lost, or the opportunity cost,
through not working. However, the extra income earned
over a lifetime is almost always more than enough to
compensate for this. Individuals’ earning capacity is
also related to innate abilities and non-acquired human
capital such as strength, good looks, coordination, and
mental alertness. But the additions to human capital
which take place as people acquire education and
training are usually more important.

According to the passage, if individuals acquire
more human capital, ----.

A) their attractiveness to a potential employer is
guaranteed

B) it is likely that they will earn more money in the
future

C) their innate abilities and attributes become more
important

D) the real cost of a quality education becomes
unimportant

E) they become more willing to take risks in their
choice of employment

34. Itis suggested in the passage that ----.

A) acquired human capital is usually more crucial than
non-acquired human capital

B) individuals’ potential productivity has more to do
with non-acquired human capital

C) going to college increases a person’s mental
alertness and coordination

D) strength and coordination are reinforced by the type
of education received

E) learnt abilities alone determine individuals’ future
prospects

35. As it is stated in the passage, a person’s potential

productivity is determined by ----.

A) the right mix of individuals” entrepreneurial talent
and determination

B) doing part-time work while studying to gain
experience and earn more money

C) strength, good looks, coordination, and mental
alertness

D) investment in your physical appearance and health
and workplace training

E) a combination of inborn capacities and other
qualities obtained through investing in oneself

36. According to the passage, the rate of return on

investment in human capital ----.

A) has to do with both experience and on-the-job
training

B) is related to the opportunity cost of receiving a high
school education

C) compensates for the lack of a college education in
the early years

D) is not very different from the rate of return on
investment in other areas

E) stems from uncertainty in the usually unstable
market place

Diger sayfaya geginiz.
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37.

37. - 40. sorulan asagidaki parcaya gére
cevaplayiniz.

Imagine you are a professor doing research in a library.
You have an assistant who brings books that you
request to your desk as you find new sources from
bibliographies. Now imagine that you are doing the
same research, but on the Internet. In both cases,
you're reading documents, finding links, and then
reading the documents the links point to. The only
difference is that in one case the documents are printed
on paper and in the other, they’re spread across a
screen. Despite the similarities, our experience of these
two situations will be quite different. Consider the
language we’ll use. In the first case, we’ll take a book
from the shelf, find a link, get another book and put the
first one back. At the physical desk, I'm still the centre
of the universe. | cause things to be brought to me and
to be taken away when | have finished with them. Now
consider the language we use to talk about the Web
experience: we go to a site, we browse, we surf, we find
a link and we go to it. When we’re done, we leave the
site. The desk is a place where we sit; the Web is a
space through which we travel.

The writer asks the reader to imagine they are a
professor in order to ----.

A) consider the various reasons for doing research
B) understand the typical life of a professor

C) compare different ways of obtaining information
D) evaluate the different ways that data is organized

E) observe the way our study habits have changed

38. According to the passage, both libraries and the

39.

40.

Internet ----.

A) make different use of modern technological
resources

B) are places which imaginative people often enjoy
visiting

C) differ only in how much information can be retrieved

D) offer the opportunity to read texts with connections
to other texts

E) contain all the information anyone would ever need
to know

We can understand from the passage that the
words expressing how we use the library and the
Internet ----.

A) are related to how we experience each situation
differently

B) point to the different times in which each was
developed

C) change depending on the momentary objectives of
the speaker

D) show how book readers can be either active or
passive

E) depend on whether or not the research is for work or
leisure

It is understood from the passage that ----.

A) going to the library is less energizing than using the
Internet

B) using the Internet is like a journey to different places

C) reading from the Internet sources is much more
difficult than those of the library

D) surfing the Internet is a way to open your mind to
the world

E) visiting the library helps us maintain our academic
traditions

Diger sayfaya geginiz.
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41.

42.

41. - 44. sorularda, karsilikl konugsmanin bos
birakilan kismini tamamlayabilecek ifadeyi bu-
lunuz.

Professor:

— Globalization is to a certain extent reversing
nowadays as countries weigh the risks of not
having enough goods in their own markets.

Student:

— Can you give us an example?

Professor:

A) Well, the world is still a highly uncertain place.
B) Yes, finance is badly needed global economy.

C) Yes, small banks are closing down.

D) Well, China produces most of the world’s products.

E) Yes, India has tried to ban cotton exports recently.

Emel:
—We need to get together and work on our
presentation.

Elif:

— Il don’t know when we could do that. I’'m really
busy at the moment.

Elif:
= That’s unfair! You know | want to work on it just
as much as you do.

A) You need to help me finalize it.

B) Do you have a problem working with me?
C) You've always got an excuse for not doing it.
D) Do you think you work less than | do?

E) We're going to have to work really hard.

44,

10

43.

Sinan:
—I’ve got a physics exam tomorrow and I’'m really
nervous.

Cem:

Sinan:
—That’d be great!

Cem:
— OK, see you later.

A) Why do you always get so nervous?

B) Has the teacher given you any study notes?
C) What do you plan to do about it?

D) Would you like to study together this evening?

E) Didn’t you have a physics exam yesterday?

Tourist:
—I'd like to go somewhere warm, but | also want to
experience a bit of culture.

Travel Agent:

— Have you thought about going to Dubai? It has
one of the world’s fastest growing art scenes and
it’'s a great alternative to London or New York.

Tourist:

Travel Agent:
— Well, from March 21 to 24, the city will put on the
biggest show of the year, Art Dubai.

A) Do you think it will attract people from London and
New York?

B) When would be a good time to visit Dubai to take
advantage of its cultural activities?

C) How do | get from the Dubai International Financial
Centre to the important art galleries?

D) Do most visitors to Dubai spend a lot of money on
cultural activities?

E) How can | exhibit my own work in this unique artistic
environment?

Diger sayfaya geginiz.
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45. - 48. sorularda, bos birakilan yere pargada
anlam biitiinliigiinii saglamak igin getirilebilecek
ciimleyi bulunuz.

45. Scientists are now looking to the computer industry

46.

for alternative ways to help Alzheimer’s patients.
One approach is centred on a small camera called
SenseCam, worn like a necklace that takes
photographs automatically throughout the day. ----
Each photograph can help patients remember those
things that make up a person’s identity.

A) The idea is to use the images not to replace
memory but to stimulate it.

B) Dozens of groups are now working on pilot tests of
the device for memory impairments.

C) A video camera may be able to slow the damaging
effects of Alzheimer’s disease.

D) Some people are sceptical about the device as older
people are often against technology.

E) The studies on the device show that they have no
real practical application.

If the northern Indian state of Uttar Pradesh were an
independent country, it would be the fifth most
populous in the world. It already has a dynastic
political family in the Ghandis, who have been
based in Uttar Pradesh and have been in political
power for four generations. So, recent local
elections in this state of 200 million were carefully
watched as a measure of the political changes
happening in India. ---- This time, regional parties
dominated the state’s politics.

A) The state parliament in Uttar Pradesh has 403 seats
to be contested among the Ghandis and other
candidates.

B) The results were disastrous for the Ghandi family
and for India’s central party.

C) Gandhi was never present in the campaign trail
throughout the election period.

D) Before the elections, Rahul Gandhi was widely
predicted to be the next president of India.

E) The state of Uttar Pradesh with its 200 million
people needed Gandhi’s leadership for the next
elections.

11

48.

47. Sensing the emotional states of others is an
important part of social interaction. If you do not do
this well, you may end up unintentionally annoying
or offending those in your social circle. ---- You can
strengthen friendships by recognizing when a
person is sad and looking for appropriate comfort,
for example. To succeed in business, you also need
to accurately detect the emotions of other people
when proposing a new idea or deciding when to ask
for promotion.

A) You cannot help but communicate your mood to
colleagues and neighbours through subtle cues.

B) Some people find it virtually impossible to detect
other people’s feelings and have difficulty relating to
others.

C) In the past, scientists focused largely on a region of
the brain responsible for detecting emotional hints.

D) Researchers have found that cues such as posture
and tone of voice are critical to nonverbal
communication.

E) Detecting emotional hints is critical to success in
many domains such as friendships and business.

Madagascar is renowned for its extraordinary
animals, particularly lemurs, a group of primates
extinct elsewhere on the planet. ---- The island was
one of the last places on earth to be settled by
people, receiving its earliest migrants in the middle
of the first millennium. Moreover, despite
Madagascar’s proximity to Africa — 400 km at the
closest point — those settlers have long been
suspected of having arrived from the Malay islands
— modern Indonesia — more than 6,000 km away.

A) lIts history of human settlement, though, is equally
unusual.

B) Madagascar is quite an interesting holiday
destination.

C) The Islanders’ culture includes elements that are
characteristically Asian.

D) There were many Malay expeditions across the
Indian Ocean.

E) Itis likely that a successful colonization would have
been followed by others.

Diger sayfaya geginiz.
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49. - 56. sorularda, verilen ingilizce ciimleye an-
lamca en yakin Tiirkge ciimleyi, Tiirkge climleye
anlamca en yakin Ingilizce ciimleyi bulunuz.

49. Better ways of storing energy are needed in order

50.

for electricity systems to become cleaner and more
efficient.

A) Elektrik sistemlerinin daha temiz ve verimli olmasi
isteniyorsa enerjiyi depolamak igin ¢ok daha farkl
yéntemler denenmelidir.

B) Daha temiz ve verimli elektrik sistemlerinin
gelistiriimesi icin 6ncelikle enerjiyi yeterince
depolamak gerekir.

C) Elektrik sistemlerinin daha temiz ve verimli olmasi
icin enerjiyi daha iyi depolama yollarina ihtiyag
duyulmaktadir.

D) Elektrigin temiz ve verimli bir sekilde kullanilabilmesi
icin enerijiyi farkh sekillerde depolama yéntemleri
gereklidir.

E) Elektrik sistemlerinin temiz ve verimli olmasi, enerjiyi
saklama yollarinda yapilacak degisikliklere baghdir.

Civilization is the product of hundreds of
generations working together achieving more than
what any one person could achieve alone.

A) Medeniyet, insanlarin yuzlerce nesil boyunca tek
baslarina bir sey basaramadiklarini anlamalari
sonucu birlikte calismaya baslamalariyla
sekillenmistir.

B) Medeniyet, yluzyillar boyu nesillerin tek baglarina bir
sey yapmak yerine hep birlikte ¢alismasi sonucu
ortaya cikmistir.

C) Medeniyet, yuzyillar boyunca birlikte galismay:
basaran insanlarin trunlerinin bir sonucudur.

D) Medeniyet, herhangi birinin tek basina
yapabileceginden daha fazlasini basarmis yizlerce
neslin birlikte calismasinin Grundddr.

E) Medeniyet, insanlarin tek baslarina bir seyler
basarmak yerine birlikte calismalarinin triinl olarak
yuzlerce yilda olusmustur.
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51.

Although only 4.2 million light years away, Proxima
Centauri, the nearest star to our solar system, is not
visible to the naked eye from Earth.

A) Glnes sistemine en yakin yildizlardan biri olan
Proxima Centauri sadece 4,2 milyon isik yili
uzakliktadir, ancak yine de yeryiziinden ¢iplak
g6zle goérilemez.

B) Sadece 4,2 milyon 1sik yili uzaklikta olmasina
ragmen giines sistemimize en yakin yildiz olan
Proxima Centauri, yeryuzinden ¢iplak gézle
gorulemez.

C) Gunes sistemimize en yakin yildiz olarak bilinen
Proxima Centauri, hemen hemen 4,2 milyon isik yih
uzaklkta olmasina ragmen yeryuzinden ¢iplak
gbzle izlenemez.

D) Gunes sistemine yaklasik 4,2 milyon isik yili
uzakhkta olan Proxima Centauri’yi yeryuzinden
ciplak gozle gorebilmek mumkin degildir.

E) Proxima Centauri olarak adlandirilan ve glines
sistemimize en yakin olan yildiz, 4,2 milyon 1sik yili
uzaklkta olmasindan dolay! ¢iplak gézle gérilemez.

Diger sayfaya geginiz.
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52. UNICEF, working alongside national governments,

manages matters pertaining to the health,
education, and security of children all around the
world.

A) UNICEF’in temel amaci; saglik, egitim ve glivenlik
konularinda diinyanin her tarafindaki gocuklarla ilgili
sorunlari ulusal hiikimetleri yanina alarak idare
etmektir.

B) UNICEF’in kurulus amaci; saglik, egitim ve gtvenlik
alanlarindaki ¢cocuklarla ilgili konulari dinyanin her
tarafindaki ulusal hilkimetlerle birlikte takip
etmektir.

C) UNICEF; asil olarak saglik, egitim ve guvenlik
konularinda diinyanin gesitli bélgelerindeki
cocuklarla ilgili sorunlar ulusal hilkGmetlerle
beraber denetlemek amaciyla ortaya gikmistir.

D) UNICEF; gocuklarin saghgi, egitimi ve glvenligiyle
ilgili konulari ulusal hikimetlerle diinyanin her
bélgesinde birlikte yénetmek niyetiyle
olusturulmustur.

E) UNICEF; duinyanin her tarafindaki ¢cocuklarin
saghgi, egitimi ve glvenligiyle ilgili konulari ulusal
hukametlerle birlikte ¢aligarak yonetir.

. Collesme ve diger ekosistem degisiklikleri, ilk kez
1976’da iklimin gelecegini etkileyen 6nemli unsurlar
olarak taninmigtir.

A) Changes in the ecosystem as well as deforestation
were first recognized in 1976 as factors influencing
the future of the climate.

B) In 1976, deforestation and other ecosystem
changes were accepted as crucial factors for the
future of the climate.

C) Deforestation and other ecosystem changes were
first recognized in 1976 as important factors
affecting the future of the climate.

D) In 1976, deforestation and other ecosystem
changes were identified as being among the most
important factors for the future of the climate.

E) Both deforestation and other ecosystem changes
were accepted in 1976 as factors affecting the future
of the climate.

54. Hayvanlar, insanlarin yaptigi gibi birbirleriyle

55.

konugsamazlar; ancak bu, onlarin diger yollarla
iletisim kuramadiklari anlamina gelmez.

A) Animals cannot talk to one another like humans do,
but this does not mean they cannot communicate in
other ways.

B) Animals cannot communicate like human beings,
but it is known that they can communicate in some
other ways not known to us.

C) Animals are known to communicate in other ways
although they cannot talk to one another like human
beings do.

D) Animals do not actually talk like human beings do,
but that does not prove that they do not
communicate at all.

E) Animals do not have a spoken language like
humans do, however, that does not mean they do
not communicate at all.

Cin, yaklasik 160 milyon kisinin, kiy1 sehirlerinde is
aramak icin kirsal kesimden ayrilmasiyla 1978’den
beri tarihteki en biiyiik i¢ go¢tli yagsamistir.

A) China has witnessed the biggest internal migration
since 1978, with over 160 million people leaving
rural areas to work in coastal cities.

B) Since 1978, China has experienced the biggest
internal migration in history, with nearly 160 million
people leaving rural areas to seek work in coastal
cities.

C) Since 1978, China experienced one of the largest
internal migrations in history, with nearly 160 million
citizens leaving rural areas to look for work in big
cities.

D) Since 1978, China has recorded the internal
migration of 160 million families leaving rural places
to seek jobs in coastal cities.

E) Since 1978, China has encountered the biggest
internal migration, with nearly 160 million people
who left rural places and moved to coastal cities.

Diger sayfaya geginiz.
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56. Dewey; egitimde “yaparak 6grenme” yaklagimini

savunmus ve ¢ocuklarin, caligmalarinda yaratici
olmalar tesvik edildiginde, daha ¢ok 6grendikleri
fikrini 6ne slirmiustiir.

A) Dewey, who thought that children learn better when
they are encouraged to be creative in their work, put
forward a “learning by doing” approach to education.

B) Dewey believed that a “learning by doing” approach
to education helped children learn more in their
studies than from traditional methods.

C) Dewey'’s “learning by doing” approach to education
maintained the idea that children learn more when
they are encouraged to be creative in their work.

D) Dewey advocated a “learning by doing” approach to
education, maintaining the idea that children learn
more when they are encouraged to be creative in
their studies.

E) Dewey, believing that younger children learn better
when they are encouraged to be imaginative in their
studies, supported a “learning by doing” approach to
education.

57. - 60. sorularda, climleler sirasiyla okundu-
gunda parganin anlam biitiinliigiinii bozan ciim-
leyi bulunuz.

57. (1) Tourism takes people to new places and broadens

their understanding and knowledge of other cultures
and environments. (ll) This is an educational process
and is an important part of the industry. (Ill) New
sporting venues, entertainment facilities, and
restaurants are just some of the many positive
side-effects that tourism creates for the local
population. (Iv) If directed properly, this education can
lead to a greater awareness, sympathy and admiration
for other societies. (V) This cultural exchange can help
foster peace among different cultures.

A) | B) Il C) 1l

D) IV E)V

58.

59.

60.

14

(1) In the 20th century, the new science of psychology
seemed to challenge the idea of free will. (Il) However,
brain scanners and our ability to interpret them are
extremely useful. (Ill) Freud’s theory of unconscious
drives suggested that the causes of some of our actions
are not what we think they are. (IV) And then along
came neuroscience, which is often thought to diminish
the importance of free will even more. (V) The more we
find out about the workings of the brain, the less room
there seems to be in it for any kind of autonomous,
rational self.

A) 1 B) Il C) Il

D) IV E)V

() The biggest industrial project on the Kenyan coast
will be to the north in the Lamu region. (ll) At a spot now
occupied by a Kenya-US naval base, a super-port
capable of handling huge container ships is due to be
built. (1) A motorway and railway will move its goods to
Ethiopia and Uganda, and oil will flow the other way.
(IV) On arid land now inhabited by the hunter-gatherer
Boni people, a new city will arise with 2 million people
and an international airport. (V) Kenya’s population has
grown from 8 million in 1963 to 43 million today, and
incomes are rising steadily.

Al B) I C) 1l D) IV E)V

() The world’s most ambitious solar power project is
scheduled to begin in Morocco. (ll) The plan is to use
solar panels across the Sahara Desert to make use of
the Sun’s rays, which shine there all year round.

(1) The destination seems to be ideal for a holiday in
the sun. (IV) Because North Africa’s sunlight is so
intense, solar panels used by this project could
generate up to three times the electricity produced by
similar projects in Northern Europe. (V) By 2050, this
system could supply 15-20% of Europe’s electricity
requirements.

A) | B) Il C) 1l

D) IV E)V

TEST BITTI.
CEVAPLARINIZI KONTROL EDINiZ.
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SINAVDA UYULACAK KURALLAR

Cep telefonu ile sinava girmek kesinlikle yasaktir. Cagri cihazi, telsiz, fotograf makinesi vb. araglarla; cep bilgi-
sayarl, kol ya da cep saati gibi her turll bilgisayar 6zelligi bulunan cihazlarla; silah ve benzeri techizatla; musved-
de kagidi, defter, kitap, s6zlik, sézlik islevi olan elektronik aygit, hesap cetveli, hesap makinesi, pergel, acidlger,
cetvel vb. araclarla sinava girmek kesinlikle yasaktir. Bu araglarla sinava girmis adaylarin adi mutlaka Salon Sinav
Tutanagina yazilacak, bu adaylarin sinavi gegersiz sayilacaktir. Sinava kalem, silgi, kalemtiras, saat vb. aragla
ve kulaklik, kiipe, bros vb. taki, herhangi bir metal esya ile girmek de kesinlikle yasaktir. Yiyecek, icecek vb.
tiiketim malzemeleri de sinava getirilemez. Adaylar sinava seffaf sise icerisinde su getirebilecektir.

Bu test icin verilen cevaplama siresi 60 dakikadir. Yabanci Dil Testi bagladiktan sonra ilk 15 ve son 15 dakika iginde
adayin sinavdan ¢ikmasina kesinlikle izin veriimeyecektir. Bu suireler diginda, cevaplamayi sinav bitmeden tamam-
larsaniz cevap kagidinizi ve soru kitapgiginizi salon goérevlilerine teslim ederek salonu terk edebilirsiniz.

Sinav salonundan ayrilan aday, her ne sebeple olursa olsun, tekrar sinava alinmayacaktir.

Sinav suresince gorevlilerle konusmak, gorevlilere soru sormak yasaktir. Ayni sekilde gorevlilerin de adaylarla ya-
kindan ve algak sesle konusmalari ayrica, adaylarin birbirinden kalem, silgi vb. seyleri istemeleri kesinlikle yasaktir.

Sinav sirasinda, goérevlilerin her tirli uyarilarina uymak zorundasiniz. Sinavinizin gegerli sayllmasi, her seyden
Once, sinav kurallarina uymaniza baghdir. Kurallara aykiri davranigta bulunanlarin ve yapilacak uyarilara uymayan-
larin kimlik bilgileri Salon Sinav Tutanadina yazilacak ve sinavlari gegersiz sayilacaktir.

Sinav sirasinda kopya c¢eken, gekmeye kalkisan, kopya veren, kopya gekilmesine yardim edenlerin kimlik bilgileri
Salon Sinav Tutanagina yazilacak ve bu adaylarin sinavlari gegersiz sayilacaktir. Gérevliler kopya ¢ekmeye ya da
vermeye kalkisanlari uyarmak zorunda degildir; sorumluluk size aittir.

Adaylarin test sorularina verdikleri cevaplarin dagilimlari bilgi islem yéntemleriyle incelenecek, bu incelemelerden
elde edilen bulgular bireysel ya da toplu olarak kopya ¢ekildigini gésterirse kopya eylemine katilan adayin/adaylarin
sinavi gegersiz sayllacaktir.

Sinav goérevlileri bir salondaki sinavin, kurallara uygun bigimde yapilmadidini, toplu kopya girisiminde bulunuldugu-
nu raporlarinda bildirdigi takdirde, OSYM takdir hakkini kullanarak bu salonda sinava giren tim adaylarin sinavini
gecersiz sayabilir.

Cevap kagidinda doldurmaniz gereken alanlar bulunmaktadir. Bu alanlari doldurunuz. Cevap kagidinizi baskalar
tarafindan goérilmeyecek sekilde tutmaniz gerekmektedir. Cevap kagidina yazilacak her tirli yazida ve yapilacak
bitun isaretlemelerde salon gdrevlisinin atacadi imzalar harig, kursun kalem kullanilacaktir. Sinav suresi bittiginde
cevaplarin cevap kagidina isaretlenmis olmasi gerekir. Soru kitap¢igina isaretlenen cevaplar gecerli degildir.

Soru kitapg¢iginizi alir almaz kapaginda bulunan ilgili alanlara kimlik bilgilerinizi yaziniz. Sayfalarin eksik olup olma-
digini, kitapgikta basim hatalarinin bulunup bulunmadigini ve soru kitapgiginin her sayfasinda basili bulunan soru
kitapcik numarasinin, kitapgigin 6n kapaginda basili soru kitapgik numarasiyla ayni olup olmadigini kontrol ediniz.
Soru kitapgidinizin sayfasi eksik ya da basimi hataliysa degistiriimesi i¢in salon bagkanina bagvurunuz.

Size verilen soru kitapgiginin numarasini cevap kagidinizdaki “Soru Kitapgik Numarasi” alanina yaziniz ve
kodlayiniz. Cevap kagidinizdaki “Soru kitapgik numarami dogru kodladim.” kutucugunu igaretleyiniz.

Soru kitapc¢igi ve cevap kagidi lizerinde yer alan Soru Kitapgik Numarasini dogru kodladiginizi beyan eden
alani imzalayiniz ve salon gérevlisinin, kodlamanin dogru yapildigini beyan eden hem soru kitapgiginizdaki
hem de cevap kagidinizdaki ilgili alani imzaladigindan emin olunuz. Salon gérevlisi imzasini tilkenmez ka-
lemle ve siz kodlamayi yaptiktan sonra atmahidir.

Sinav sonunda soru kitapgiklari toplanacak ve OSYM'de tek tek incelenecektir. Soru kitapgiginin bir sayfasi bile
eksik cikarsa sinaviniz gegersiz sayilacaktir.

Cevap kagidina ve soru kitapgigina yazilmasi ve isaretlenmesi gereken bilgilerde bir eksiklik ve/veya yanlishk olmasi
halinde sinavinizin degerlendiriimesi mimkiin olamamaktadir, sorumluluk size aittir.

Soru kitapcidinin sayfalarindaki bos yerleri misvedde igin kullanabilirsiniz.
Sorulari ve/veya bu sorulara verdiginiz cevaplari ayri bir kdgida yazip bu kagidi disari gikarmaniz kesinlikle yasaktir.
Sinav salonundan ayrilmadan 6nce, soru kitapgiginizi ve cevap kagidinizi salon gérevililerine teslim etmeyi unutmayiniz.

Bu testlerin her hakki saklidir. Hangi amagla olursa olsun, testlerin tamaminin veya bir kisminin Merkezimizin yazili izni olmadan kopya edilmesi,
fotografinin gekilmesi, herhangi bir yolla ¢ogaltiimasi, yayimlanmasi ya da kullaniimasi yasaktir. Bu yasaga uymayanlar gerekli cezai sorumlulugu ve
testlerin hazirlanmasindaki mali kiilfeti pesinen kabullenmig sayilir.
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